FUKUTA®

EHEHEHERAT
FUKUTA ELEC.& MACH. CO.,.LTD

SF014

2016.10 EPSY Welcome Website

www.fukuta-motor.com.tw

INDUCTION MOTOR

RAS)/ETRE
BhifEEE TrRig185%
Tel:886-4-2515-9568 Fax:886-4-2515-9538

LNRE PE=RM
BEePmEHERNEI01E2-15%
Tel:886-4-2528-8833 Fax:886-4-2528-3979

JEEER
SR OB BB 14257518
Tel:886-2-2601-9559 Fax:886-2-2601-5119

FBEEMN
SRmRRETIEIL/ 5] 11822
Tel:886-6-2437-236 Fax:886-6-2438-647

REERBRDBIRAET

YTF TECHNOLOGY COPR.
BihEEEE EFEEE768269:
Tel:886-4-2562-8933 Fax:886-4-2563-4909

FUKUTA TECHNOLOGY CORP.(JAPAN OFFICE)
REP G REIEIKE N ERER] 25-2-403
Tel:075-882-5656 Fax:075-882-5656

temmERHOH
0939-639900 rtka

i

FUKUTA®

www.fukuta-motor.com.tw

INDUCTIO

Y

=

% @ C€so

sumz




»>> BlIET

WD - EREERERASREER - B2 > 7
KERR - DB TRARE0 - IREEEME L EmEEiRS
EMBERVHEISF - (RERQIRIEILE -

T

MLEE) - AEERNEE « ADREAZREE - BE
AV - SBSHIBBEEAN T (EIRIE : SMLEIAD - BRI -
FILES - RERES A5 - BASRIRE

B

SRR > LEENERERFZEMAE - SRR
FEHERBFRR - SAMDKIRHER RS - SEM
FEMEARF - USRS -

INNOVATION:is to create aggressively, pursue customers
satisfaction and maintain the company's ever-lasting prosperity.
We strive for creativity and innovation at all time. Based on the
concept of customer-oriented, we provide satisfying products
and service to our customers so that we can make profits
efficiently and maintain the coampany's substantial prosperity.

SINCERITY is to help each other enthusiastically and
achieve the win-win goals of customers, company, and
individuals. We respect humanity and make a harmonious work
environment. Helping each other enthusiastically means to
care about our customers and colleagues so that we can have
prosperous future of customers, company, and individuals.

CREDIBILITY is to offer the society excellent products and
service.In order to meet the demands of society, we continue to
make efforts based on the honest principle to provide services
and products of best quality and less cost so as to make
contributions to the society.

| 1988F 4BATMIL -

1993F UEE—FIBAME MMESATE, -
1996  iEiBISO-9002FF R EaRE:E -

1997F UOEE—XBAMRR TREBERSE] -

20005

2002%5F

20035

20045
20055

20065

20075
20085

20095
20105

20115

20128

20135

20145

20155

(). (RABEERSE ) RERNESEERITTRIERRENES «

ErEwmE) -

). 0% MNEA]
(1). MERMERSE | RBE+—EEEERIED -
(). BEEHRE—BEZRERES -
(3). EiBISO-9001EIR REERE -
(1). MBRMRABERAFE ) BEEOEDBTESCITDEIERE -
(2). AEEH/AEVH/AMEH/AMVHR D Bi8 rhEE B B =20 SR REE R R -
(3). MBRARHEEAFTIE ) RES T _ESEERITT -
(1). [250HPZ400HPEMEFIRRIE | BSIER TR SBIRETE R
. [ERFERR S EFrame 225 | RES+ = EEEERIZ:E -

1
2

B « EMESORIEE] TEJRER  BIEEFE0EBN)) JINEESR -

OF3EiBrhE A REFBEccciml EmaRE

BB AR TR SBIRET B 2004 F EBIEHTRETRS -

BRI TR 2006 EEELAIFTHREIS

HEFEMNEHEAMSEQTRN - ENEESHEHHFE -

HSIEES T (ST EUHER IskwEER/JZER ) Z MR -

(1). EEERRRDBERA BB PR LIRREE LT - B2 EEEEE) ) FEZ ISR -

(2). SEERERDBRATSEMEN TG EHE (Luxgen EFNHETE -

(1). RERUB A BB RLERBRAEIRAT) - FOEEESHEEN -

(2). B BB B STHEE) D RIATAERI R E -

(1). BYPEREHEARMA TFEE Model S INERPINEE -

(2). MEEVASEHE - B - SENRKFESFARUSH -
).
).

)
)
)
)
)
)

2

(3). RELERKIE [ BEKEEANE -
(1). 2EOFPMTSERRIRTI SIS -

(2). KRS AMBAE -

PMKREEEISIFREE

LSS SRR SR PR 2RI PR
REEMEEEAM IRRELEEHR -
RECER B MR R AR -

RETEN S _EsURERREHEEHS -

ST T XSSt ER S SEEBMEE -

ENS#BEITUY SWD [ES@ik e AUsRsE -

BEOE T XSRS F AN AR EREHASTHL A5 EEERE -
SIEUIEN R A EERELE -

RIEOEE N HEER )\ EEEIBENEAE -



FUKUTA® INDUCTION MOTOR

=il |

www.fukuta-motor.com.tw

&%

Gontents

2 LN 7R 5)5RE8

EEAE,AMRIIRELR 01 AEZRFI(EAZ)
Character List 03 AERFI(IZX)
Character List IE2 05 AMZRT(EATR)
Character List IE3 07 AMZRZBI(II)

B ¥ B &
=HEREETVREEEN (SCIM) 3 Phase squirrel cage induction motor

FRETEEE (EC) HEREEXIEE (CNS)
HATEBERE (Js) FEEFIEE (GB)

REFEER =1H220V, 380V, 415V, 440V, 460V
Rated voltage 220V,380V,415V,440V,460V

ZETESER Rated frequency 500r60HZ
{E#EZATE S1(Continuous)

IP54
O%IC 4115 E/5HA0 1C411 Totally enclosed fan cooling

AEEF IM1001: IKFRIEEZZS « AEVF IM3001: CHEZRZ 5
AEEF IM1001: Foot Mounted ~ AEVF IM3001: Flange Mounted

(O]
il
13
14

EEFEBE)K: +10%LU Voltage variation:within +10%
SERMBE)IR: + 5%\ Frequency variation:within =5%
REREER: D CmEseHEAE10%R

The total value of the absolute value for two points within 10%

—RER (BREMMRBRIERZE) Shadow, Non-Hazardous
—15°C~40C

TEENRE0%U T (TMEH5ER)

Relative Humidity less than 80% RH(Non-condensation)
BH10002REAT  Less than 1000 meter

RAERTED ; [B2E30HPLL L, EFR K ERERTED For belt-drive Apptication;
However, for 2 Poles 30HP and Larger, Direct-Coupling Service Only.

€4#0 Double rotation

O RRE E—EENE Y/ EE) Full Voltage Direct-on line or Y/A starting

EEETEATURERENF Double shield Non-contact Ball Bearings

SR BB AR B O ERIREOL, WHEM90® feigzEk
HERIRRZ IESRER, BRERTOERER Available rotation for 90°

H#R3.6.9.121%, I BRERIHT 3/6/9/12 leads with terminals

&% 63~112M  EfR§@#B Frame No.63~112M E class
1E5%:132S ~180M  BARAEHE Frame No.1325~180M B class
HESR:180L ~315M  F#RIE#E Frame No.180L~315M F class

BIPBFZHEREISO - MR 1SO Metric screw thread

KIEEIEETEZE5E (IEC34)
{EFR OREEN RIS According to IEC34

> B3R DRSS RE NIRRT BEEA

BN IR TR

B4806,D,T,VRYIFRER 02
G,DRGIEKX) 15
G,DRFI(IX) 17

-

B B

2373 ()] | SR5UAREE

T,VRIIEAX) 19
T,VRFIGIX) 271
DMZRFIEARX) 23
DM%3|(3IX) 24

2 ¥ R &
=MEENRMEESNE (SCIM) 3 Phase squirrel cage induction mot

IP54 : 0BT, P54, Totally enclosed

~
GF/DF/TFVFVF: (HEZRE S
GF/DF/TFVFEF: K225 (IM1001) (1M3001)
GF/DF/TF/VFEF: Foot Mounted GF/DF/TF/VFVF: Flange Mounted
IC416 : IEEMEETEITAN BAIAS E519 50/60HZ 200/240V
1C416 : Fan cooled Cooling fan Single phase 50/60HZ 200/240V
2P 4p 6P
1/4 ~60 1/4 ~ 270 1/4 ~215

3¢ 220,380,415,440,460V 500r60HZ (LN ER)

SE{EZEE, EFRBIS.F : 1.0 Continuous rated, service factor:1.0
V,TRYIEEEER EEFAEEE : 1:10 Constant torque 1:10

D,GRFI60HZ ~ 10HZ7EIEFE 10HZ ~ 6HZ JEBIIEHE SERE A ELL RIS R T 75 IRIA
60HZ~10HZ Constant torque, 10HZ~6HZ decreasing torque

125% ZETEIBRE  125% of rated torque

(G, TR FiR ~ (D,VRII)HIR (OZMRERR-EEA%R)

G,T series F class : D,V series H class(with thermal protector)
BA (BREMRIERIEIRIE) Shadow, Non-Hazardous
JBIR10002AREIT Less than 1000 meter
—15C ~40°C

TEENREB0%UAT (RNEHEER)
Relative humidity less than 80% RH (Non-condensation)

EOE RS - PRFETT5EIEEE Counter-clockwise facing the drive end

BEFRE (RITERER) SEAHEFRTL Direct coupling/belt coupling

BIiRRRIE + EMEREE% + EELR (Munsell 7.5GB 4/2)

Rust prevention+Phenolic resin+Enamel paint

Elfg5E: PG (Encoder) #i%231024PPR, Line drive DC-5V/Push pull DC-12V SVEUIFRIG
Encoder: 1024PPR, Line drive DC-5V/Push pull DC-12V or other type

*ER: RRBIBRR SRS R BRI A

ESICVAL R

HRHERFEIAR, RHRERBIORRNEEE, FATERBITEM



FUKUTA® INDUCTION MOTOR o= | www.fukuta-motor.com.tw

Gharacter List 4= 1H ] :

FUKUTA EBEE R ESEH S 2005 e FUKUTA SRR S S (50Hz 380V)

Full Load Character Startinng Character Output Fi Starfimg Character
Torque Torque
300 . 330
240

Full Lood Character

rome
No

63

63

2 0002 2 2600 0002 ;
14 0185 4 1650 €60 650 1 2109 280 6 250 0003 /4 0.185 4 1380 640 685 06 0131 220 35 0003 4
6 1120 €40 610 12 2,161 200 6 250 0006 6 925 Al 600 600 08 0195 260 35 270 0.006
2 3370 750 860 15 2,107 340 12 290 0003 2 2610 Al 750 850 09 0128 320 7 2% )
12 037 7 1680 700 740 19 0.214 200 12 250 0005 12 0.37 4 1390 7l 655 700 12 0259 200 7 2 0005
6 1130 680 660 22 0,319 200 12 230 0009 6 930 30 630 67.0 13 0387 200 7 2 0009
2 3395 770 860 30 2.215 220 19 280 0005 2 2620 30 765 87.0 17 0259 220 n 280 0.005
1 075 4 1700 760 765 34 0.430 230 19 280 0009 1 0.75 4 1400 30 730 740 21 0522 250 n 280 0.009
6 1140 760 710 36 0,641 200 19 230 0018 6 940 901 7.0 700 23 0777 190 n 230 0018
Z 3415 €00 880 56 0.428 250 40 280 0011 2 2650 9oL 800 88.0 32 0512 250 23 280 0011
2 15 2 1710 790 830 60 0.854 220 0 280 ools 2 1.5 4 1410 90L 785 785 37 1.036 220 23 280 0018
6 1140 780 740 68 1.281 180 i) 220 0033 6 945 1001 760 7.5 42 1546 180 23 220 0033
2 3420 €20 8.0 80 0.626 250 68 280 0015 2 2850 o0 835 88.5 45 0752 250 3 280 0015
3 22 % 1725 €20 810 87 1.242 210 63 260 0033 3 22 4 1420 1001 81.0 820 50 1509 210 9 260 0,033
6 1140 €20 755 93 1.879 180 63 230 0060 6 950 1121 79.0 760 56 2285 180 39 230 0.060
7 3450 &5 900 130 1.044 240 10 280 0039 2 2900 1121 85,5 900 73 1.242 240 63 320 0.039
& 507 2 1745 €0 845 135 2,065 220 110 260 0060 5 3.7 4 1440 112M 84.5 835 80 2502 220 63 290 0,060
) 1150 €0 775 150 3,133 180 110 230 0154 6 955 1325 820 755 91 3772 160 63 230 0,154
2 3490 5.0 900 190 1.534 220 160 260 0060 2 2690 1325 86.5 885 10 1,853 210 93 260 0,060
75 55 4 1750 €70 840 200 3.060 220 160 250 0107 7.5 55 4 1450 132 860 825 120 3693 220 93 280 0107
6 1150 €50 775 220 4.657 200 160 230 0222 6 560 132M 845 775 130 5637 200 93 230 0.222
7 3490 865 90.0 250 2,092 200 200 210 0078 2 2900 132 885 885 145 2518 200 16 250 0,078
10 75 ¢ 1750 &85 880 250 4173 220 200 250 0146 10 1.5 4 1450 132M 87.5 855 150 5036 220 116 250 0146
6 170 €70 800 280 6,242 210 200 230 0408 6 950 160M 860 800 170 7.687 270 16 300 0.408
2 3510 8.0 900 360 3,052 200 290 240 0164 2 2910 160M 885 500 210 3681 210 168 290 0164
15 n ¢ 1760 500 875 367 6,086 220 290 250 0322 15 n 4 1260 160M 89.5 880 210 7.336 220 168 250 0.322
6 1170 9.5 830 390 9.155 210 290 230 0599 6 950 1601 88.5 840 225 11042 220 168 260 0.599
b 3520 9.5 910 480 4149 200 360 240 0191 2 2920 160M 900 91.0 280 5002 210 209 260 0191
20 15 ¢ 1760 %05 865 503 8,299 220 360 240 0415 20 15 4 1460 1601 905 885 285 10004 230 209 260 0415
6 170 %00 85 51.2 12.483 200 360 220 1007 6 970 180M 890 825 310 15087 210 209 230 1.007
2 3520 500 870 620 5118 200 440 230 0247 2 2920 1600 900 89.5 350 6169 240 268 290 0.247
25 185 4 1760 510 820 649 10.235 210 40 240 0624 2 185 4 1465 180M 91.0 865 37 1229 210 268 240 0,624
6 1170 500 845 64.0 15.39 200 440 220 1170 6 570 1801 900 825 380 8571 220 268 240 1170
2 3520 %05 880 727 6,086 200 550 230 0315 7 2920 180M 9.5 500 a0 7.336 210 319 250 0.315
30 22 4 1750 915 88.0 720 12241 210 550 240 0671 30 o) 4 1465 180M %05 855 430 14622 210 319 240 0671
6 170 510 795 800 18.309 200 550 215 1365 6 970 1801 900 820 450 22084 230 319 260 1.365
2 3520 505 95 95.1 8.299 150 620 210 0829 2 2920 1801 920 91.0 540 10004 210 398 240 0.829
40 30 2 1760 920 880 97.0 16,597 210 620 240 0829 40 30 4 1260 1801 o5 860 590 20088 220 398 230 0.820
6 1170 520 8§70 98.0 24967 190 620 215 1952 6 970 200 9.5 830 600 30115 190 39 200 1952
7 3545 910 870 1230 10,163 150 800 210 0602 % 2940 200 920 87.5 700 12254 150 463 210 0.602
50 37 ¢ 1760 920 845 1250 20470 200 800 230 1293 50 37 4 1460 2000 920 860 710 24676 190 463 210 1.293
6 170 525 840 1260 30,793 210 800 210 2292 6 970 200 920 800 760 36951 230 463 250 2292
7 3545 915 900 1430 12.360 170 910 220 0633 2 2955 2001 925 87.0 850 14828 160 582 220 0,633
60 45 ¢ 1760 520 885 1450 24.39 190 910 220 1681 60 2 4 1460 2001 925 88.5 840 30012 190 582 200 1.681
6 1180 530 830 1530 37.133 210 910 210 3052 6 580 2255 92.5 840 880 44711 220 562 250 3,052
¢ 1770 935 910 1700 30.257 185 1200 220 2308 4 1470 2255 930 850 1060 36431 180 725 200 2.308
75 55 6 1180 935 860 1790 45.385 200 1200 210 5161 75 55 6 580 2505 935 860 1040 54647 200 725 200 5161
8 885 520 775 2020 60513 135 1200 210 16.00 8 735 2805 915 760 1200 72863 140 700 210 16.00
73 1775 540 945 2220 41143 180 1450 220 3887 4 1475 2508 940 89.0 1360 49511 240 927 250 5,887
100 75 6 1185 945 890 2340 61.627 200 1450 200 6368 100 75 6 975 250M 935 87.0 1400 74901 220 927 250 6,368
5 885 525 775 2750 82518 135 1450 210 19.60 8 735 280M 9.5 76.0 1640 99.358 140 960 210 19.60
¢ 1775 545 905 2760 49371 180 2100 220 4428 4 1475 250M 940 920 1580 59.413 190 1245 230 2,428
125 90 6 1180 940 850 171.0 74.266 130 1150 230 13.60 125 90 6 975 2805 938 81.0 1800 89881 130 1150 230 13.80
& 885 930 780 189.0 99.021 130 1150 210 21.50 8 735 3155 920 77.0 1930 119,230 140 1150 210 2150
73 1770 547 870 2030 60513 130 1400 230 7600 4 1475 2805 945 830 2130 72616 130 1400 230 7.600
150 110 6 1180 543 855 207.0 90.770 130 1400 230 15.20 150 10 6 975 280M 940 81.0 2000 109854 130 1400 230 1520
& 885 930 780 2300 121026 130 1400 210 25.50 8 735 3151 920 77.0 2360 145725 140 1400 210 25,50
z 1770 549 880 2400 72.616 130 1680 230 8600 4 1475 2801 948 835 2630 87139 130 1680 230 £.600
178 g2 6 1185 945 860 2470 108.464 130 1680 230 1850 175 T 6 980 3158 94.2 835 2650 131153 130 1680 230 18.50
7] 1775 95.0 8.5 2860 87.771 130 2030 230 11.20 4 1480 315§ 94.9 885 2890 105266 130 2030 230 11.20
215 160 6 1185 546 86.5 2970 131471 130 2030 230 21.40 218 160 6 980 315M 945 85.5 3010 158973 130 2030 230 21.40
20 200 4 1775 950 900 350  109.714 120 2550 230 14.20 = 200 4 1480 315M 94,9 885 3620 131562 120 2550 230 14.20
» 55 (Note): 1 FIEAZHKIEC34 (Examination method according to IEC34) > iE(Note): 1 BFIAZHKIEC34 [Examination method accoiding to IEC34)
2P CWEESEE SAST@A] - (Al data is subject fo change without prior nofification.) 2. EWEEBRE, BAS1TEA - (Al dato is subject to change without pricr notification.)

BRHER RS, RHRERTERRNEES, FATRASTEN



FUKUTA® INDUCTION MOTOR o= | www.ukuta-motor.com.tw

Character list 452 112} | IE2/GB3 )

i . 60Hz 220V, e Y
FUKUTA S3REEBEFER zsos~315M(za phit 380\2 FUKUTA SRR B S EF

Output

s (50Hz 380V)

Full Load Character Startinng Character Starimg Charactet
Torque Terque

Frame Full Load Character
No
63
63

2 3360 350 0002 2 2750 0066 35 0,002 1
14 0185 4 1610 250 0,003 /4 0185 4 1345 740 75 05 0134 250 0.003 4
6 940 250 0,005 6 940 7 745 66.0 0.6 0192 259 0.005
2 3420 280 0002 b) 2765 7 785 88.5 0.8 0130 zi 002
12 037 4 1700 280 0006 1z 037 4 1390 7 760 730 .0 0259 2 0006
6 1120 250 0013 6 910 80 730 740 10 039 220 ool
2 3410 310 0,005 2 2805 80 775 865 17 0.260 280 0.005
1 075 4 1725 39 0011 1 075 4 1425 80 800 745 19 0512 250 0an
6 1155 300 0022 6 960 901 785 66.5 22 0761 289 0,022
g 3470 400 001 2 2870 0L 830 81.0 3% 0,509 380 001
2 15 4 1735 330 0020 2 15 4 1430 501 830 780 35 1021 300 0.020
6 1150 270 0,059 6 945 1001 830 7.0 39 1546 260 0,059
2 3475 380 0015 2 2865 s0L 850 87.0 45 0748 35 0015
3 22 4 1745 340 0033 3 22 4 1440 1001 86.0 835 47 1.468 33 0,033
6 1160 270 0060 6 955 1121 86.0 725 5.2 2243 263 0.060
2 3480 380 0046 ) 2885 121 885 500 71 1249 36 0.046
5 37 4 1740 300 0076 5 37 4 1435 112 86,0 86.5 7.6 251 29 0.076
6 1170 280 0131 6 965 1328 86.0 76.0 8.6 3.733 270 0131
2 3520 290 0063 2 2915 1325 89.0 86.5 109 1,837 29 0,063
75 55 4 1760 320 0143 7.6 65 4 1460 1328 89.0 80.0 7 3668 310 0143
6 1170 340 0217 6 970 1321 88.0 86.5 1.0 5521 32 0217
2 3505 280 0078 2 2900 1325 89.0 88.0 145 2518 280 0,078
10 75 4 1755 300 0146 10 75 4 1455 1324 8.0 835 15.3 5019 300 0,146
6 175 300 0484 6 970 160M 885 81.0 15.9 7529 300 0.484
2 3535 330 0173 2 2930 160M 50,0 500 21.0 3.656 320 0178
15 n 4 1760 270 0352 15 n 4 1455 160M %05 85.0 220 7.361 27 0.352
6 175 310 0630 6 970 1601 500 80.0 230 11042 310 0.630
2 3535 330 0191 2 2930 160M %05 500 280 4985 320 0191
20 15 4 1760 270 0415 20 15 4 1460 1601 91.0 915 270 10004 26 0.415
6 nzs 250 1233 6 970 1600 905 920 270 15057 240 1.233
2 3525 340 0247 2 2925 1601 500 91.0 340 6159 300 0.247
25 185 4 1770 270 0.707 2 185 4 1465 160M 1.7 920 330 1229 29 0.707
6 175 260 1584 6 970 1601 91.0 925 330 18571 26 1.534
2 3525 290 0283 g 2930 160M 915 905 400 7311 300 0,283
30 22 4 1770 260 0792 30 22 4 1465 160M 920 815 450 14622 200 0.792
6 175 320 1725 6 970 1801 91.0 835 440 22084 26 1.725
2 3545 320 0340 2 2935 1601 91.5 87.5 57. 9953 300 0.340
40 30 4 1766 280 1.003 40 20 4 1465 180L 93.0 84.5 58.0 19.939 290 1.003
6 175 230 2568 6 980 2001 92.0 85.0 580  29.807 23 2,558
2 3540 290 1018 2 2945 2001 925 87.5 690 12233 29 1018
50 37 4 1770 260 1464 50 a7 4 1475 2001 93,0 825 730 24425 240 1.484
6 1180 230 3266 6 980 2001 925 840 720 36763 20 3,256
2 3640 270 1167 2 2940 2000 93.0 %00 820 1490 27 1.190
60 45 4 1775 240 1.806 60 45 4 1475 2000 935 86.0 850 2071 210 1810
[ 1180 220 4376 6 980 2268 92.5 86.5 85.0 44.71 24) 4,380
- = 4 1780 240 2308 - - 4 1465 2258 940 845 940 3655 240 2,308
6 1165 260 5161 & 6 985 2508 93.6 825 1080 54370 26 5161
4 1780 250 4653 4 1475 2508 94.1 88.5 1870 49511 56 2,653
109 75 6 1185 250 8175 100 75 6 985 250M 93.6 845 1440 74140 289 6175
4 1780 220 5393 4 1475 2500 941 88.0 1650 59413 20 5,393
125 20 6 1165 : 230 13.20 1226 g 6 985 2605 942 840 1730 88968 220 13.20
4 1780 2605 94.5 870 2030 60173 150 1510 210 8200 4 1475 2605 94.2 85.0 2000 72616 210 £.200
1e0 gl 6 1185 260M 95.0 85.0 207.0 90387 180 1510 220 15.10 150 110 6 985 260M 945 840 2110 108739 220 15.10
4 1780 260M 96.1 8.0 2100 72208 150 1740 210 9,500 4 1460 260M 945 87.0 2440 88.034 219 9.500
g 12 6 1185 3158 95.0 8.0 2450 108464 180 1740 220 18.40 112 3 6 985 3158 945 85.0 2500 130,487 230 18.40
4 1780 3158 95.1 8.5 2860  87.524 150 2100 220 12.40 4 1460 3158 945 85.0 3030 106708 210 12.40
213 iL60 6 1185 315M 95.1 865 2960 108.464 170 2100 220 22.70 215 160 6 985 315M 94.6 85.0 3020 130467 23 2270
%?3 200 a4 1779 315M 95.4 87.0 366.0 109.714 105 2550 205 14.20 %?g 200 4 1450 315M 95.4 89.0 358.0 134.305 205 14.20
&t (Note): 1 FFITRZMIEC34 (Examination method according to IEC34) » i (Note): 1 BT RZEHKIEC34 (Examination method according to IEC34)
2P CHIEESEE - WASBITEA © (Al data Is subject to change without prior nofification.) 2. FBIEEBRE - BMARS1T8A © (Al data is subject fo change without orior notification.)

BRHER RS, RHRERTERRNEES, FATRASTEN



FUKUTA® INDUCTION MOTOR == | www.fukuta-motor.com.tw

Character list 452 [IE3) | IE3/GB2)

FUKUTA BN R RERZERITR (60Hz 220V) FUKUTA B85 R R IERERFITR (50Hz 380V)

Frame Full Load Character Startinng Character Max, Inertia Output Frame Full Load Character Startimg Character ME Inettia
K Torque e Torqus
430 80 390

2 3460 80 0.006 2 2860 824 839 16 0255 375 1 0,005 y
1 075 4 1730 80 85.5 76 32 0.422 215 26 420 0013 1 075 4 1430 80 83.5 730 19 0511 380 14 375 0.013 /
6 145 9L 825 696 34 0,638 195 20 265 0.022 6 940 0L 79.5 706 20 0777 200 1 235 0022
Z 3445 9oL 855 856 54 0.424 395 6 395 o.on 2 2835 9oL 855 855 a1 0515 360 'ﬂaa 360 0011
2 15 4 1745 0L 87.5 7.6 58 0.337 325 51 385 0,023 2 15 4 1440 0L 860 766 24 1015 320 27 360 0023
6 1165 HEY 88.5 686 65 1.254 170 44 270 0071 6 965 12M 860 8.6 28 1514 175 24 250 0.071
3 3456 0L 865 8.0 i 0,620 390 70 400 0015 2 2845 0L 85.9 87.6 45 0753 370 a7 355 0015
3 22 4 1745 100 89.5 834 79 1.228 32 75 330 0.050 3 22 4 1440 100U 87.0 835 47 1.488 300 40 315 0,050
6 1160 ey 89.5 722 91 1.847 170 57 265 0.084 6 960 112M 86.5 725 5.4 2232 175 32 265 0,084
5 2475 112M 88.5 914 121 1.087 320 120 385 0,046 2 2870 T12M 880 01.3 71 1256 290 63 345 0,045
5 4 4 1750 1n2m 89.5 829 132 2.089 225 1o 325 0,083 5 47 4 1445 112M 88.4 829 77, 2494 235 63 305 0.083
6 165 1328 89.5 78.7 139 3.093 185 105 280 0143 6 965 1328 870 766 s 3735 200 58 275 0143
2 3510 1328 90.2 90.4 180 1.526 245 140 295 0.076 2 2915 1328 89.5 90.5 10.5 1838 230 80 290 0.076
7.5 55 4 1760 1328 91.7 86.6 185 3.044 250 160 310 0.133 75 5.5 4 1460 1328 90.0 85.9 11.0 3.669 240 84 295 0.133
6 n7s 132M 91.0 768 210 4,559 230 170 345 0217 6 970 132M 89.0 764 125 5523 225 95 335 0217
2 510 1328 902 86.8 250 2.081 255 200 300 0076 2 2905 1328 9.1 86,8 145 2515 270 110 300 0075
10 75 4 1765 132M 91.7 854 250 4139 270 230 320 0173 10 75 4 1460 132M 910 85.9 145 5008 260 121 315 0173
6 ns 160M 9.7 79.1 270 5217 260 210 285 0.484 6 970 160M %0 78.7 160 7,581 270 e 280 0.484
2 3536 160M 1.7 91.5 350 3.031 235 280 285 0.183 2 2930 160M 9.7 90.4 20.5 3.657 230 153 280 0.183
15 11 4 1765 160M 92.4 87.1 365 6.070 245 290 275 0.367 15 n 4 1460 160M 91.4 86.5 21.5 7.338 230 158 270 0.367
6 1170 160L 1.7 81.1 395 9.187 260 320 290 0.630 6 970 160L 90.3 81.9 220 11.045 295 168 285 0.630
2 3530 160M 91.7 9.9 75 4139 20 390 290 0183 3 2930 160M 919 89.7 27.5 4986 230 210 290 0183
20 15 4 1765 160U 930 859 490 8.278 255 400 285 0.462 20 15 4 1460 1601 9.1 849 2.0 10007 250 216 280 0.462
6 ns 180M 92.0 826 515 12434 20 340 235 0,630 6 970 180M 912 829 300 15062 220 184 235 0,630
2 35356 160L 92.4 92.1 575 5.067 260 500 295 0.237 2 2930 1601 92.4 929 3a. 6.150 250 263 300 0.237
25 185 4 1770 180M 93.6 67.9 595 10.180 250 470 265 0.707 25 18.5 4 1465 180M 92.6 86.2 36.8 12.300 236 258 265 0.707
6 1180 180L 93.5 624 635 15.270 2860 530 300 c.810 6 980 180M 92.5 81.7 37.8 18.387 285 290 310 0.810
2 3515 180M 93.0 902 700 6,045 225 560 280 0.283 7 2985 180M 9.0 89.2 na 7.301 225 316 270 0.283
30 22 4 1775 180M 93.6 854 735 12072 220 560 250 0792 30 2 4 1475 180M 9.5 846 120 14527 215 a0 255 0792
6 1180 180L 93.5 84.3 745 18189 265 590 285 1917 6 975 180U 925 835 o 21977 265 321 285 1917
2 3560 180L 93.5 915 915 8.231 260 840 325 0.434 2 2950 1801 935 9.5 52.0 9,905 256 158 330 0,434
o) 30 4 1775 180L 941 849 980 16462 225 720 255 1.005 0 30 4 1475 180U 935 84.2 57.5 19810 215 395 260 1005
6 1180 200 941 862 965 24763 210 620 25 3,023 6 980 2001 930 85,5 570 29816 210 337 220 3.023
2 38555 200 93.0 900 170 10137 170 960 295 1018 B 2950 200 9.7 87.7 9.0 12216 185 542 300 1018
50 37 4 1780 200 9.0 859 1200 20246 215 870 250 189 50 31 4 1480 2000 945 85,1 705 24350 205 484 255 189
6 1185 200L 94.1 86.0 1210 30.412 240 860 240 3.605 6 980 200L 93.5 87.8 9.0 36.773 230 463 245 3.605
2 3566 200 93.6 909 1380 12329 160 1000 265 1187 2 2955 2001 940 1.0 79.5 14,832 165 568 270 1187
60 45 4 1775 200L 95.5 €848 1450 24.693 215 1050 260 1.979 60 45 4 1475 200L 94.5 83.2 86.5 29716 208 §79 270 1.979
6 185 2258 945 86.3 1440 36987 240 1090 260 5106 6 985 2255 940 86,1 340 24497 235 595 270 5,106
4 1785 2258 955 7.9 1750 3001 290 1440 260 3911 4 1485 2255 950 87.7 1020 36074 270 763 275 39om
2 = 6 1185 2508 95.0 845 1830 45207 150 1260 260 6.492 & 2 6 985 2508 941 836 1080 54386 195 721 275 6,492
4 1780 2508 95.4 655 2400 41.039 190 1870 300 4.853 4 1480 2508 95.0 865 138.0 49.358 180 958 295 4.853
100 75 6 1185 250M 95.0 655 2410 61.646 165 1620 250 8.175 100 7 6 985 250M 94.5 84.7 141.5 74162 185 895 260 8.175
4 1785 250M 95.4 £9.1 2880 49.1C9 200 2540 305 5.393 4 1480 250M 95.2 21.3 163.0 59.230 205 1400 295 5.393
= L 6 185 2808 95.2 8.0 2920 73.912 260 2600 250 15.080 i - 6 985 2608 949 843 17720 88995 280 1475 265 15,080
4 1785 2808 95.8 9.6 3420 60.022 210 2900 260 9.180 4 1480 280S 95.4 87.6 203.5 72.392 180 1680 230 9.180
160 110 s 1185 280M 95.8 896 3420 92414 260 2900 240 17.294 180 e 6 985 280M 95.1 87.6 2040 108770 270 1580 240 17.294

» 2k (Note): 1 I RZEKIEC34 (Examination method according to IEC34) (Note): 1 $§HE/A2KIEC34 (Examination method according o IEC34)
2P CHIEESEE - WASBITEA © (Al data Is subject to change without prior nofification.) 2 FBIEEERE - RAST@A - (Al dota is subject fo change without prior natification.)

BRHER RS, RHRERTERRNEES, FATRASTEN



AR5 it

AEEF

AEEJ

AEEK | AEEH | AEET
IE1 IE2 | IE3 | GB3 | GB2

Fukuta Standard Induction Motor, Iron-casting Frame, Foot Mounted.

| FUKUTA {2 BRI EE S

LfLEJrL:L'_.; o

Fig.1

Specifications #3 1%

/4 /4 — — 63
1/2 /2 1/4 o 7

1 1 172 1/4 80
2,3 % 1 /2 90L
&S 3 2 1 1000
5 5 3 2 112M
7510 7.5 5 3 1328
e 10 75 5 132M
15,20 15 10 75 160M
25 20 15 10 1601
30 25,30 20 15 180M
40 40 25,30 20 180L

50,60 50,60 40,50 25,30 200L
e 75 60 40 2255
= 100 75 50 2508
— 125 100 60 250M
— 150 125 75 2808
i 175 150 100 280M

i 215 175 125 3188

250,270 215 150 31&8M

> Remark: 1.Tolerance of Shaft End Diameter "D": @11~ @28: j6 @38~ B48: k6 @ES~ P95 mb

oK/ 48K

5

5

et

100

12

125

140

160

190

216

216

254

254

279

279

318

356

406

406

457

457

508

508

28
37.5
38
35.5
45
45
46
46
75
75
80
80
80
94.5
104
104
110
110
115

118

120
138
155
170
196

224

254
300
300
355
355
398
453
g01
£01
860
£60
615

615

(IE1/IE2)

163.5
176
200
217
238
273
273
330
330
381
381
421
467.5
513.5
513.5
627.5
627.5
627.5

627.5

2.Tolerance of Shaft Center Height "H":+0 ~ -0.5 280S~315M"H": +0~-1
3.Tolerance of Guidance Diameter "N":h7

B3 Dimensions R

137.5

149

160.5

177

187

221.5

221.5

253

253

331.5
391.5
473

473

104

114.5

126

135

145

180

180

212

212

243

243

273.5

3168

355.9

355.9

455

455

455

455

100

125

140

140

140

178

210

254

279

305

286

31

349

368

419

406

457

119
130
150
175
175
175
213
250
300
297
335
350
354
425
425
445
496
490

540

45
50
56
63
70
89
89
108
108
121
121
133
149
168
168
190
190
216

216

90

100
112
132
132
160
160
180
180
200
225
250
250
280
280
315

315

20
20
24
30
37
37
36
36
40

40

152

168

190

243

265

310

310

373

373

421
469
515
5735
5735
7065
7065
743

743

AD

382
51
53.5
62
65
60
60
75
75
90
90
94.8
122
152
152
82
82
7z

17

B3 Dimensions R I

14.5

18.5

18.5

24

24

24

24

28

28

52

52

60

92

92

92

2405

273

325

367

388

448

486

612

656

670

707.5

803

811

9125

9125

1103.5

1154.5

19

1242

75.5
83

94
104
118
139
139
184
184
198
197.5
225
236
293.5
255.5
375.5
375.5

399

24

28

28

38

38

42

42

48

55

60

65

75

75

85

85

95

95

40

50

60

60

110

140

140

140

140

170

170

170

170

25
35
45
55
55

75

105
105
105
105
135
135
135
135
140
140
140

140

157

157

157

157

20

20

22

22

25

25

> | FUKUTA ELEC.& MACH. CO. L

AE

3

o0
DH Tay

AC

£ AC
B E
— ED,

HD %
SIeEisn O,
H
== e 3

° IEiC —r i)
LE B e / | e [ aa
BB oK/ 4-0K /] A
AB
Fig.3
1 AD
USABLE SHAFT LENGTH
T A\
£ ¢

Shaft 70 81 R o

11.0

18.5

200

240

240

33.0

33.0

37

37.0

42.5

49.0

53.0

58.0

67.5

67.5

8¢

86

12.5

16.0
21.5
27.0
31.0
31.0
41.0
41.0
45

45.0
51.5
59.0
64.0
69.0
795
79.5
90

90

100

100

M4*10 620122
M5*125 620222
M6*16 620472
MB*19 620522
M10%22 620622
M10%22 630622
M12+28 630822
M12*28 630822
M16*36 630922
M16%36 630922
M16*36 631122
M20%42 631222
M20%42 631322
M20%42  631522C3
M20%42  631622C3
M20%42  631622C3
- NU320C3
= NU320C3
- NU320C3
- NU320C3
FRASEIEE i P

620122

620277

620372

620422

620522

630522

630622

630627

630772

630772

631022

631022

621272

6213722C3

631322C3

6313722C3

6316
6316
6316

6316

AE

S

HA,
o

AA

4k Holss /| l-———A Y

Fig.5

22

30

40

60

70

15

135
1701180
210
280/310
360

513
552

AB

wtEE

24

35

45

64

74

120

137
180/190
212
293/323
367

543

555

26

39

47

68

75

124
146
1871197
217
300/330
390
560
570

BHRERFIHIRIIEEY. F22TEAITEA



RERSY izt

IE1

AEVK | AEVH | AEVT
| IE2 | IE3 | GB3 | GB2

Fukuta Standard Induction Mllllll‘, |I‘|l|l-l:ﬂslillu fl‘ilIIIE, HHII!II! Mounted.
| FUKUTA Z: B X e E 8 |

F

NN

BAC

-

LB

/4

172

2,3

7510

15, 20
25
30
40

50,60

» Remark: 1.Tolerance of Shaft End Diameter'D":@11~@28: j6 @38~@48: k& B55~B75:mb
3.Tolerance of Guidance Diometer "N":n7

/4

1/2

20

25, 30

40, 50

1/4

1/2

20

25,30

Specifications #& #&

80
0L
100L
112M
1328
132m
160M
160L
180M
180L

200L

4

4

142
162
175
196
219
234
268
268
319
319
355
355

399

b
\Li
Jeo |
i /DHTap
LB AD
D T AE 4 Holes-S
|
—
ED|
(1B
[ 2 oN oP
LA

125

138

1495

1615

176

187

2215

2215

253

253

3025

3025

332

92

105

15

127

135

144.5

179

179

2n

211

245

245

274

HB

FUKUTA

B5 Flange RY

22

22

22

22

28

28

35

35

35

35

52

52

60

222

268.5

272.5

364

367

428

448

486

612

656
668

707.5

803

20
20
20
20

20

(IE1/IE2)

199

238.5

232.5

314

307

368

368

406

502

546
558

597.5

666

2.Tolerance of Shaft Center Height'H": +0~-0.5

74
48

106

93.5

128.5

151

1651.5

170.5

163

(IE3)

4 Holes-S

B5 Flange

130 110 160 10
130 110 160 10
165 130 200 12
165 130 200 12
215 180 250 15
215 180 250 15
265 230 300 15
265 230 300 15
300 250 350 19
300 250 350 19
350 300 400 19
350 300 400 19
400 350 450 19

3.0
3.5
3.5
3.5
3.5
4.0
4.0
4.0
5.0
5.0
5.0
5.0

5.0

24

28

28

38

38

42

42

48

56

60

BAC

50
60
60
80
80
110
110
110
110

140

35
45
55
55
75
75
105
105
105
105

135

11.0
15.5
20.0
240
24.0
33.0
33.0
37

37.0

425

53.0

21.5
27.0
31.0

31.0

41.0
45
45.0

51.5

64.0

L
FLD‘__
1]
|| = | _ED,
=0
s = oNeP
=
=
. E,
Fig.3
L
O
g oNgP

M4=10

M5<12.5
M6*16
M8*19
M10*22
M10*22
M12*28
M12*28
M16%36
M16*36
M16*36
M20*42

M20*42

620122
620277
620472
620577
620677
630622
630822
6308722
630922
630977
631122
631272

631372

620122
620277
620377
620477
620577
630522
630622
630672
630722
630722
631022
631022

621277

33

45

65

75

120
140
178/180
220

280/300

27

38

50

69

79

125
142
185/190
222

293/323

42

52

73

80

129

151
195/200
227

300/330

HRKERSRITS, ARERFIERMBIERE), FRWERBTEH



AN 1z

AMEF | AMEJ | AMEH

Fukuta Standard Induction Motor, Aluminum Frame.

| FUKUTA B S B FE S E) £

L
-
.
GAC
®
=
e || B |
B8

Specifications #4&

B3 Dimensions R

/8,

118,114 7 63 10C 120 112 8C 106 40 630 85 179 146 7 MG20
12 V2 4 — N 112 140 183 %C 119 45 710 80 195 162 7 MG20
1 1 2 — 80 126 155 156 1C0O 130 495 800 90 212 1795 10 MG20
2:3 2 1 12 90L 14C 170 175 125 150 56 900 11.0 2325 1995 10 MG20

- 3 2 1 1000 16C 195 192 140 175 63 1000 125 260 220 12 PG2]
5 § 3 2 112M  19C 224 219 140 175 70 1120 140 280 245 12 PG21

75100 75 5 3 1328 216 250 268 140 180 89 1320 160 23320 290 13 @35

* Remark: 1.Tolerance of Shaft End Diameter'D":@11~@28: |6 @38~348: ké @55~275:m6b
3.Tolerance of Guidance Diameter *N":n7

2120 69 11 23 18 4 85

2450 80.0 14 30 25 & 1

=)

2745 85.0 19 40 35 ¢ 155
3220 910 24 50 45 8 200
3600 97.0 28 60 55 8 240
391.0 121.0 28 60 58 & 240

4490 1400 38 8 785 10 33.0

2.Tolerance of Shaft Center Height'!

125 M4<10

160 M5*12.5

21.5 M6*16

270 M8*19

31.0 M10*22

31.0 M10*22

41.0 M12*28

+0~-05

620120

62027LU

6204200

62057LU

62062LU

63062LU

63082LU

620120

62027LU

62032LU

620470

62052LU

6305210

63062LU

23

31

50

R

Fukuta Standard Induction Mllllll', Aluminam Frame,
| FUKUTA & SRR EEEhi)

24

28

28

38

25

35

45

55

55

75

10

BAC

[B14)

Shaft 5 71 8 R ¥

33.0

12.5

16.0

215

27.0

31.0

310

4.0

M4*10

M5*12.5

M6*16

M8*19

M10*22

M10*22

M12*28

6201ZLU

6202210

6204ZLU

6205ZLU

6206ZLU

6506210

6308ZLU

62017LU

62027LU

62037LU

62042LU

62057LU

4305711

63067LU

112

133

156

175

192

219

268

B5/B14 Flange

2010

330 2120
910 2450
990 2745
1095 3220
1200 3600
1330 3910

158.5 449.0

1890

2150

2345

2720

3000

3310

369.0

1185

126.5

142.0

137.0

DH Tap

B5 Flange R

265 230

15 40

15 4.0

85

100

115

130

130

165

B14 Flange

110

130

* Remark: 1.Tolerance of Shaft End Diameter'D":@11~228: j6 B38~DA48: k6 B55~@75:m6 2 Tolerance of Shaft Center Height*H":+-0~-0.5

3.Tolerance of Guidance Diameter "N":h7

M5*10

M6*11

Mé*11

M8*15

M8*15

M8*15

M10*20



b, D5 @)

GFEF/DFEF

Inverter Motor, Iron-gasting Frame, Faot Mounted.
| FUKUTA 2485558

L AC

W %tjih’é wi ‘/\
~TEZES A 8

=
S

E

LE i E 1lec | AE v

vaoua — - 63 1100 28 120 143
w2ooou2 4 — n 1112 375 138 1635
1 1 2 14 80 1125 38 185 176
23 2 1 2 9o 1 140 355 170 200
— 3 2 1 100 2 160 45 196 2175
& 5 3 2 1121 2 190 45 224 238
7510 75 5 3 1328 2 216 s 254 273
= 10 75005 1320 2 216 46 254 273
15,20 15 10 75 160M 3 254 75 300 330
25 20 15 10 160L 3 254 75 300 330
30 25,30 20 15 180M 3 279 &0 355 381
0 40 25,30 20 180L 3 279 80 385 38l
5060 50,60 40,50 25,30 200L 3 318 & 398 421
— 75 60 40 2255 3 356 945 453 4675
- 00 75 50 2505 4 406 104 501 5115
— 125 100 60 2500 4 406 104 501 5115
- 150 125 75 2805 5 457 110 560 6275
— 175 150 100 280M 5 457 110 560 6275
— 200215 175 125 3158 5 508 115 615 6275
— 250270 215 150  315M 5 508 115 615 6275

» Remark: 1.Tolerance of Shaft End Diameter *D”: @11~ @28: |6 @38~ @48: k6 D55~ @95 mob

2.Tolerance of Shaft Center Height "H":+0 ~ -0.5 2808~315M"H": +0~-1
3.Tolerance of Guidance Diameter “N":h7

B3 Dimensions R ¥

125

137.5
149
160.5
177
187
221.5
222
253
253
300.5
300.5
331
391
473
473
606
606
506

606

94
104
1145
126
135
145
180
179
211
211
243
243
273.5
316.8
355.9
355.9
455
455
455

455

80

90

100

125

140

140

140

178

210

254

241

279

305

286

31

349

368

419

406

457

100

19

130

150

175

175

175

213
256

297
335
350
354
425
425
445
496

490

o/ agK /|

40
45
50
56
63
70
89
89
108
108
121
121
133
149
168
168
190
190
216

216

1

AD

AC

E

ED,

i HD * b
ﬁ% ©

HE i

1 : / ; AE M:ﬁi
OKK/ 4-0K AB

Fig.3

AC

7
80

100
112
132
132
160
160
180
180
200
225
250
250
280
280
315
315

20

20

24

30

37

37

36

36

40

40

134
152
168
188
243
265
310
310
373
373
421
421
469
515
573.5
573.5
706.5
706.5
743

743

62
65
60
60
75
75
90
90
120.5
122
152
152
82
82
17
17

B3 Dimensions R o

14.5

18.5

18.5

24

24

24

24

28

28

22

22
22
28
28
35
35
35
35
52
52
60
92
92

92

3145
378
435
467
482.5
531
569
738
782
7765
8145
887
985.5
1099.5
1099.5
1489.5
1540.5
1577

1628

149.5
188
204
204
2125
222
222
310
310
305
304.5
309
4105
480.5
442.5
761.5
761.5
782
782

24
28
28
38
38
42
42
48
55
60

65

85
85
95

95

ﬂi
AA

40
50
60
60
80
80
110
110
110
110
140
140
140
140
170
170
170

170

25
35
45
55
55
75
75
105
105
105
105
135
135
135
135
140
140
140

140

157

157

157

157

20

20

22

22

25

25

8.5

1411 o}
15.5
20.0
24.0
24.0
33.0
33.0
37.0
37.0
42.5
49.0
53.0

58.0

67.5
76
76
86
86

16.0
215
27.0
31.0
31.0
41.0
41.0
45.0
45.0
51.5
59.0
64.0
69.0
79.5
79.5
90
90
100

100

EIREE,

Shaft 77 81 R O

M4*10
M5*12.5
M6*16
ME*19
M10%22
M10%22
M12+28
M12+28
M16+36
M16+36
M16+36
M20+42
M20+42
M20+42
M20+42

M20*42

RTRA

AC

620122
620272
620422
620522
620672
630622
630822
630872
630922
630922
631122
631222
631322
631522C3
631622C3
631672C3
NU320C3
NU320C3
NU320C3

NU320C3

620122
620272
620322
620472
620522
630522
630672
630672
630772
630722
631022
631022
621272
621372C3
631372C3
631372C3
6316
6316
6316

6316

22

30
40
60
70
1
13!
17
21
28
36
51

55

HA)

5
5
0/180
0
0/300
0
3

2

. HRERSIHRBIERE, FOTHETABTER



I}Il=’F§IJ Tt

Inverter Motar, Iron-¢asting Frame, Flange Mounted
| FUKUTA 3558

L
LB o ET AEE 4 Holes-S
5
, ‘ <
o |-e] @%ﬂg%z&p i) 4000,
§ | L. j: = b
! BKK, )g(

LA @D
g /oHTap

Fig.1

B5 Flange R

Specifications #3 &

1/2 172 /4 = 71 il 162 141 106 — 22 342 1.5 312
1 1 1/2 1/4 80 2 175 154.5 113.5 = 22 378 10 338
2,3 2 1 /2 90L 1 196 165 127 — 22 474 1 424
— 3 2 1 100L 2 219 176.5 135 141.5 28 468.5 16 408.5
5 5 3 2 112M 1 234 187 144.5 152.5 28 522.5 15 462.5
7510 7.8 5 3 1325 3 268 221.5 179 178 35 531 19 451
— 10 7.5 5 132M 3 268 221.5 179 178 35 569 19 489
15,20 15 10 7.5 160M 4 319 253 21 215 35 738 20 628
25 20 15 10 160L 4 319 253 21 215 35 782 20 672
30 25,30 20 15 180M 4 355 302.5 243 239 52 776.5 20 666.5
40 40 25,30 20 180L 4 355 302.5 243 239 52 814.5 20 704.5
50,6C 50,60 40,50 25,30 200L 4 395 332 274 264 60 887 20 747

» Remark: 1.Tolerance of Shaft End Diameter'D":@11~@28: j6 @38~248: k6 @55~@75:mé  2.Tolerance of Shaft Center Height'H":+0~-0.5
3.Tolerance of Guidance Diameter “N":h7

48.5
106
n

118

93.5
128.5
181
161.5
170.5

188.5

130

165

165

215

215

265

265

300

300

350

350

400

110

130

130

180

180

230

230

250

250

300

300

350

B5 Flange R

160
200
200
250
250
300
300
350
350
400
400

450

LD

/ DH Tap

4 Holes-S

3.5

3.5
35
3.5
4.0
4.0
4.0
5.0
5.0
5.0
5.0

5.0

24

28

28

38

38

42

42

48

60

23
30
40
50

60

80
80
110
110
110
110

140

25
35
45
585

55

75

105
105
105
105

135

Shaft & 77 @ R

1.0
155
20.0
24.0
24.0
33.0

33.0

37.0
425

53.0

16.0
21.5
27.0
31.0

31.0

45.0
51.5
59.0

64.0

R ERFHEAR, RHRERTIDRBNEEE, FRATBFSTEN

M4*10

M5*12.5
M6*16
M8*19
M10*22
M10*22
M12*%28
M12*28
M16*36
M16*36
M16*36
M20*42

M20*42

620122
620277
620477
620577
620671
630627
630822
630822
630922
630927
631122
631271

631372

AD

620122
620272
620372
620472
620572
630522
630672
630672
63072Z
630722
631022
631072

621277

8 Holes-S

140

175/180
220

280/300



N EYIEN

Inverter Illlly Mator, II'llII-ﬂi_IsliIIu frame, Foot Mounted.
[ FUKUTA@&E%FH%E]

L

-

/4 14 = = 63 1 100 28 120 144
172 112 /4 — n 1 112 37.5 138 162
1 1 172 14 80 1 125 38 155 176
2,3 2 1 12 0L 1 140 355 170 200
aal 3 2 1 100L 2 160 45 196 217
5 5 3 2 112M 2 190 45 224 238
7510 75 5 3 1328 2 216 46 254 273
— 10 75 5 132m 2 216 46 254 273
15,20 15 10 75 160M 3 254 75 300 330
25 20 15 10 160L 3 254 75 300 330
30 25,30 20 15 180M 3 279 80 355 381
40 40 25,30 20 180L 3 279 80 355 381
50,60 50,60 40,50 25,30 200U 3 318 80 398 421
— 75 60 40 2258 3 356 94.5 453 467.5
— 100 75 50 2508 4 406 104 501 511.5
— 125 100 60 250M 4 406 104 501 511.5
— 150 125 75 2808 5 457 110 560 627.5
— 175 150 100 280M 5 457 110 560 627.5
— 215 175 125 3155 5 508 115 615 627.5
— 250,270 215 150 315M 5 508 15 615 627.5

» Remark: 1.Tolerance of Shaft End Diameter *D”": @11~ @28: j6 @38~ @48: k6 P55~ @95 mb

2.Tolerance of Shaft Center Height "H":+0 ~ -0.5 2805S~315M"H": +0~-1
3.Tolerance of Guidance Diameter "N":h7

B3 Dimensions R I

134
144
149
160.5
177
187
222
222
253
253
301
301
331.5
391.5
474
474
606
606
606
606

94.5
103.5
1145
126
135
145
179
175
2n
2n
243
243
2735
316.8
356
356
455
455
455
455

80

90

100

125

140

140

140

178

210

254

241

279

305

286

3n

349

368

419

406

457

100
19
130
150
175
175
175
213
256
300
297
335
350
354
425
425
445
496
490

540

40
45
50
56

63

89

89

108
108
121
121
133
149
168
168
190
190
216

216

ey
L] B
; /| ae

63

7

80

90

100
112
132
132
160
160
180
180
200
225
250
250
280
280
315
315

20
20
24
30
37
37
36
36
40

40

135

152

168

190

241.5

264.5

310

310

373
373

515
573.5
573.5
706.5
706.5
743

743

[aninnl 1
SRRR) -
E—1
hod RE——" § g— )
s ‘
LE B (o]
BB

38
51
53.5
62
65

60

75
75
90

120.5
122
152
152
82
82
mz
7

B3 Dimensions R

14.5

18.5

18.5

24

24

24

24

28

28

28
28

35

35

52

52

394.5
4145
465
497
522.5
621
659
768
812
802
840
937
985.5
1099.5
1099.5
1489.5
1640.5
1677
1628

2295
2245
234
234
2525
312
312
340
340
330
330
359
410.5
480.5
4425
7615
761.5
782
782

/DH Tap

14

19

24

28

28

38

38

42

42

48

55

60

65

75

75

85

85

95

95

40

50

60

60

110

110

10

110

140

140

140

140

170

170

170

170

35
45
55
55
75
75
108
108
108
105
138
138
138
138
140
140
140
140

167

187

187

{ ‘—’1‘ AC
e
— ED
FErEH T
< I £
== IS 2‘
— — 1 ' /
LE B & / /e Lo
88 | -
Fig.3 e/ 4ok /| AB
AD
AC
E
)
- HD
|
IHE
1
oni/ s0¢ /| -
Fig.4

Shaft H 7 8l R T

8.5

1)

15.5

20.0

240

24.0

33.0

33.0

37.0
37.0

49.0
53.0
58.0
67.5
67.5
76
76
86
86

310

310

410

a0

450

450

5§9.0
64,0
690
795
795
90
90
100
100

EREESR RS, WHRESRSIEREIE2E, FLTETITEM

M4*10
M5*12.5
M6*16
M8*19
M10+22
M10+22
M12¢28
M12+28
M16+36
M16+36
M16+36
M20*42
M20+22
M20+42
M20*42

M20*42

620122
620277
620477
620577
620672
630622
630822
6308727
630922
630922
631122
631272
631372
631572C3
631672C3
631622C3
NU320C3
NU320C3
NU320C3
NU320C3

620122
620277
620372
620472
620572
630522
630622
630622
630722
630722
631022
631022
621277
621372C3
631372C3
631322C3
6316
6316
6316
6316

wWtES2

115
135
170180
210
280/300
360
513

552




B [0k

Inverter Duty Motor, Iron-casting Frame, Foot Mounted.

| FUKUTA 4§55 EiE

172

2,3

7.5,10

15,20
25
30
40

50, 60

DAC

AD

L
LB E
LD g
ED| |
== e
‘ oK/
LA
Fig.1

Specifications #3 1&

172

7.5

10

25,30
40

50, 60

/4

172

20
25, 30

40, 50

1/4

/2

7.5
10
15
20

25, 30

80
90L
100L
112m
1325
132M
160M
160L
180M
180L

2001

4

4

161
175
196
219
234
268
268
319
319
355
355

397

142
154.5
165
176
187
221.5
221.5
253
253
303
303

332

106
113.5
127
135
144.5
179
179
2n
21
243
243

274

141.5

152.5

178

178

2156

215

239

239

264

AE 4 Holes-S

22
22
22
28
28
35
35
35
35
52
52

60

422.5
429
514
513.5
577.5
621
659
768
812
806.5
844.5

937

20
20
20
20

20

392.5

389

464

453.5

517.5

696.5

734.5

797

» Remark: 1.Tolerance of Shaft End Diameter'D":@11~@28: j6 @38~248: k6 @55~@75:mé  2.Tolerance of Shaft Center Height'H": +0~-0.5
3.Tolerance of Guidance Diameter "N":h7

74
50
106
n

118

93.5
128.5
181
161.5
170.5

188.5

130
165
165
215
215
265
265
300
300
350
350

400

4 Holes-S

110
130
130
180
180
230
230
250
250
300
300

350

B5 Flange RY

160
200
200
250
250
300
300
350
350
400
400

450

3.5
3.5
3.5
35
40
40
40
50
5.0
50
5.0

5.0

24

28

28

38

38

42

42

48

55

60

23
30
40
50
60
60
80
80
110
110
110
110

140

45
55
55

105
105
105
105

135

Shaft t5 77 8 R

8.5

11.0
15.5
20.0
24,0
24.0
33.0

33.0

160
215
274
31.0

31.0

45.0
515
59.0

64.0

M4*10
M5*12.5
M6*16
18*19
M10%22
M10%22
M12%28
M12+28
M16*36
M16*36
M16*36
20742

M20*42

620122

620272
620477
620577
620677
630622
630822
630822
630922
630922
631122
631277

631372

620122
620272
620372
620472
620572
630522
630672
630672
630722
630722
631022
631022

621272

33

45

65

75

120
140
175/180
220

280/300

FERHER RS, SHRERFICIRNEEE, FATETBTEN



DMEF

Light Weight type Inverter Mator.

D50 i)

| FUKUTA £ 2BV 45 5 iE|

Specifications 381%

12 V2 4 — N

1 1 Wik — Gl
2:3 2 112 90
o 3 2 i 100L
5 5 3 2 1i2m

7510 756 65 3 1328

112

125

140

160

190
216

268

B3 Dimensions R

71.0
80.0
90.0
100.0
1120
132

9.0

1.0
125
14.0

160

194.5

2140

2335

259.5

2845

3320

162

179.5

199.5

220

245
290

7

10

10

12

12
13

MG20
M&20
M&20
PG21
PG21
235

345.0

3435

427.0

4700

488.0

532.0

180.0
1835
196.0
207.0
2180

2230

® ® o o

0

185
20.0
24.0
24.0

33.0

31.0
31.0

41.0

M5*12.5 620272

Mé*16
M8*19
M10*22
M10*22

M12*28

Remark: 1.Toletance of Shaft End Diamster'D":@11~@28: j6 @38~348: ké @55~@75:mé  2.Tolerance of Shaft Center Height'H": +0~-0.5
3.Tolerance of Guidance Diameter "N":nh7

620472
6205722
620622
630672
630822

620272

620372

620472

620522

630572
630622

14

19
24
28
28
38

liulll WBi!]IIl WIIII Inverter Mator, )
| FUKUTA i 23V 55E|

[B14)

Shaff tH 77 @ R B5/B14 Flange R B5 Flange

30 25 &5 110 160 ME*125 620227 620222 133 1236 ©1.0 3460 3150 805 85 70 108 Mé*11 25

4 35 6 155 215 Mé*16 620477 620312 186 1315 990 3435 3030 8.0 12 165 130 200 12 35 100 80 12 Mé*11 30 13
50 45 8 200 270 ME*19 620572 620422 175 1420 109.5 427.0 377.0 1185 12 165 130 200 12 3.5 115 95 14C M8*15 35 19
60 55 8 240 31.0 MI0*22 620677 620572 192 159.56 1200 470.0 4100 1265 16 215 180 250 15 3.5 130 110 16C M8*15 35 25
60 55 8 240 31.0 MI0*22 630627 630512 219 1725 133.0 488.0 4280 1420 16 215 180 250 15 4.0 130 110 16C M8*15 35 34

80 75 10 330 41.0 MI2*28 63082Z 630612 268 2000 1585 532.0 4520 1370 19 265 230 300 15 40 165 130 202 MI0*20 40 55

Remark: 1.Tclerance of Shaft End Diameter'D":@11~228: j6 @38~@48: kb6 @55~B75:mé  2.Toletance of Shaft Centfer Height"H”: +0~-0.5

8- Teterance of Gucance biameter 7 ERUERISENR, SORERSIHISIEEE, FOTERSTEA



VM

3

[ BRI

VMEF

Light Weigt type Inverter duty Motor. Light Welghe type Inverter duty Motor.
| FUKUTA 8 S 2V S 5= F 55E] | FUKUTA S8V a8 B 5iE

L
LB
LD E AD N 4-8

78y

Specifications B3 Dimensions < Shaft tH 77 & R : Shaft & 77 @ R B5/B14 Flange R B5 Flange R B14 Flange R

w2 V4 we — Nz wp 1m0 My 45 M0 80 1945 162 7 MO 700 250 14 0 2 5 NG 160 W25 ez 620m 9 1430 25 5 110 160 MSV25 620212 620222 133 1315 910 3700 3100 80.5 12 130 110 160 10 35 85 70 105 VY11 25 9
19 4 6 155 215 Mé'16 62047 620322 156 1430 99.0 4235 3630 860 12 165 130 200 12 35 100 €0 120 M6l 30 1

1 112 — 80 125 155 156 100 130 50 800 5.0 2230 1795 10 MG20 4235 2335 19 40 35 6 155 215 M6*1s 6204 6200z 12 S 2 Z SO0 e O 22 ORROS ORD, B bl 2 208 [
24 50 45 8 200 270 M9 652 62042 175 1525 1095 4770 4270 1185 12 165 130 200 12 35 115 95 140 M85 35 19

2:3 2 1 2 9L 140 170 175 125 150 56 900 110 2425 195 10 MS20 477.0 2460 24 50 45 8 200 270 M8*19 620522 620422 18

28 60 55 8 240 310 MI0*22 62062Z 620522 192 159.5 1200 5100 4800 1265 16 215 180 250 15 35 130 110 160 M8*15 35 25
= 3 2 1 1C0L 160 195 192 140 175 63 1000 125 2595 220 12 PG21 5100 2470 28 60 55 8 24C 31.0 MI0*22 62067Z 620522 23

28 60 55 8 240 31.0 MI0*22 63C6Z  6305ZZ 219 1725 1330 5330 4730 1420 16 215 180 250 15 40 130 110 160 WM8*15 35 34
5 & 3 2 112M 190 224 219 140 175 70 1120 140 2845 245 12 PG21 533.0 2630 28 60 55 8 24.C 31.0 M10*22 63062z 63082z 31

38 8 75 10 330 41.0 MI2*28 63082Z  6306ZZ 268 201.0 1585 6220 5410 1370 19 265 230 300 15 40 165 130 202 MI0*20 40 55
7510 75 65 3 1328 216 250 268 140 180 89 132 160 3325 290 13 @3E 6220 3130 38 80 75 10 33.C 41.0 MI2*28 63082Z 6306ZZ 50

» Remark: 1.Tolerance of Shaft End Diameter' D@11 ~228: j6 @38~248; ko @55~@75:mé 2 Tolerance of Shaft Center Height'H":+0—-0.5 rRemarks JolsranceipiShatt Ead Diometel. Dl B111=12251161238 = 0d8:k8 8553215 me) 2TolernceinfShaft Centerelght*th £0=:0.5
3.Tolerance of Guidance Diameter "N":h7

3.Tolerance of Guidance Diameter “N":h7 EHRHERSENR, RERERFITRBNEE, FLTERBTEN



FUKUTA® INDUCTION MOTOR

Wiring Diagram e

6 output wire i i z 00
w2 u1

00

t t

t t t 1
Power line Power line
W1 ,666\ u2 l
V2 V1

Low volt High volt
Run Start
@) (]
9 output wire ®© 0 Qe
u1 us
v2 ﬁ z ﬁ 000
L2 t ot ot t t t
Power line Power line
N Low volt High volt
%) (]
W5 o V5

W1

12 output wire (s B us B ve |

EANS 54

w1 ue Power line Power line
000— —000— Run Start
V6 Vs v2 Vi1 A o
»»»»» Low volt S

oo
coc

Power line
Run

=— | www.iukuta-motor.com.tw

00

PP

@0@

Power line
Start
)

N BT

F#90 1 220 50/60 0.11/0.15

#4100 1 220 50/60 “/0.1 5 \
4112 1 200 50/60 0.11/0.15

#1532 1 220 5060 0.22/0.17

£#160 1 220 5060 0.25/0.33

£#180 1 220 5060 0.29/0.35

£#200 1 220 5060 0.59/0.82

F#025 1 220 5060 0.3/0.4

£#250 200 50/60 0.3/0.4

XEAFE B ERR S EAEAREHR T IS

O WRERFBEMERZME - SR EERR TRR(THIRIMIS < ERESIRER
FHISHE R FFER RN HRERFITRE  FRTRDERFSIZIEN

All detail and specifications are correct at time of going to press, We reserve the right to make
changes without notice in the course of continued development.

FUKUTAe FUKUTA ELEC. & MACH CO., LTD.



